Year 5 Spring 1 Maths Activity Mat 4

Section 1
The temperature outside is -3°C. The temperature inside is 19°C. What is

the difference in the temperature outside and inside? {

)

Section 2
A high speed train has 6 coaches of 74 seats and 2 coaches of 48 seats.
There are 12 trains a day from Sheffield to London. How many seats are

there on all the trains from Sheffield to London [
rounded to the nearest 1007

]

Section 5 Section 6
Adjacent squares are added 1kg = 2.2lb (pounds)
together to give the number Complete the following:
above. Complete the number 15kg = b
wall.
kg = 110lb
Section 7
0.1 0.25 Write the name of these shapes.

0.07

Section 3 Section 4
Calculate: Order the following
fractions from smallest to
6_2 58 largest.
. 1 3 4 1
+_36 27_ 5 10 15 10
92 __ _42
Section 8

Children count the number of children who have a

jacket potato each day.

Number of children who
Week )
have a jacket potato
Monday 13
Tuesday 24
Wednesday 19
Thursday 20
Friday 5
What is the highest number of children
who could have had a jacket potato every day? [j

Why do you think only

had a jacket potato on Friday?

5 people[ }
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